NEC/ NPN SILICON TRANSISTOR
2SC1841

DESCRIPTION The 2SC1841 is designed for use in AF amplifier, driver and

low speed switching. PACKAGE DIMENSIONS
in millimeters {inches)
FEATURES ® High Voltage Vcegg : 120 V (0304 WAX)
e High hgg  hpg  : 600 TYP. (Vee =6.0 V, Ic = 1.0 mA)
<3
ABSOLUTE MAXIMUM RATINGS ii
Maximum Temperatures © é
Storage Temperature . ........ —55 to +125 °C (83158) o
Junction Temperature . ....... +125 °C Maximum T ' ~ E%
Maximum Power Dissipation (Ta=25 °C) - L gg L‘L"E
Total Power Dissipation .. ........... 500 mW 0.10) [— —R‘é'—
Maximum Voltages and Currents (Ta=25 °C) oo =2 =
Vceo Collector to Base Voltage . ... ... 120 V §§
VCEO Collector to Emitter Voltage - - . - - - 120 Vv 3
VEBQ Emitter to Base Voltage . ....... 50 Vv S
ic Collector Current .. .. ......... 50 mA
1. EMITTER EIAJ : SC-43B
g Base Current . ... ............ 10 mA 2. COLLECTOR JEDEC : TO-92
3. BASE IEC  : PA33
ELECTRICAL CHARACTERISTICS (Ta=25 °C)
SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS
hFEq DC Current Gain 150 580 Vceg=6.0.V, Ic=0.1 mA
hEE2 DC Current Gain 200 600 1200 Vce=6.0V, Ic=1.0 mA
fr Gain Bandwidth Product 50 110 MHz Vcg=6.0V, lg=—1.0 mA
Cob Output Capacitance 16 2.5 pF Veg=30V, [g=0, f=1.0 MHz
IcBO Collector Cutoff Current 50 nA Veg=120 V, Ig=0
lEBO Emitter Cutoff Current 50 nA Vgg=5.0V,Ic=0
VBE Base to Emitter Voltage 550 590 650 mV  VCg=6.0V,Ic=1.0mA
VBE (sat) Base Saturation Voltage 0.73 1.0 \% Ic=10 mA, ig=1.0 mA
VCE(sat) Collector Saturation Voltage 70 300 mv Ic=10 mA, Ig=1.0 mA

Classification of hggo

—
Rank P F E U
Range 200 — 400 | 300 — 600 400 — 800 600 — 1200

hgg Test Conditions : Vg =6.0 V, Ic=1.0 mA
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TYPICAL CHARACTERISTICS (Ta=25 °C unless otherwise noted)

TOTAL POWER DISSIPATION vs.
AMBIENT TEMPERATURE
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Ta— Ambient Temperature—°C

DC CURRENT GAIN,
COLLECTOR AND BASE SATURATION
VOLTAGE vs. COLLECTOR CURRENT
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Ic — Coliector Current—mA

hpg —DC Current Gain

Ic — Collector Current— mA

COLLECTOR CURRENT uvs.
COLLECTOR TO EMITTER VOLTAGE
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QUTPUT CAPACITANCE vs.
COLLECTOR TO BASE VOLTAGE
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Veg —Collector to Base Voltage—V

Ic —Collector Current—mA

t1 — Gain Bandwidth Product—MHz

COLLECTOR CURRENT vs.
BASE TO EMITTER VOLTAGE
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Vgg —Base to Emitter Voltage—V

GAIN BANDWIDTH PRODUCT wvs.
EMITTER CURRENT
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